BALE 24 Bkt BX0M8 3-2 FEAK(Q) ~ 2-2-3-2 FXE 4/ 107111723

G-DAARBAAHZFELXERX
/\-@
(1) 9y* —4x’y

= y(qy=4%)
= Y [3y-2x)']
= Y (3Y42%0(3Y-2X)

(2) x* 2x-1)-92x-1)
= (%-D(X=9)
= (A=)(XA3)(K=3)

(3) x*—81
(-9
= (3D
= (X+D N3

4) (5x—3)2+12 (5x—3)+36
A 5%3=h
B AtIAT36
=(At0) |
= (5%-316)
= (5X+3)

(5) 9 (3x—2)?—30 (3x—2)+25
A 3%2=A

R, =GA-30A+28
- (38)-2-3A-L+E
=(3A-5)
=(9%-6-5) = (TH-11)
(6)

(5x+3)2—6 (5x+3) (x—1)+9 (x—1)?
/> 5%t3=4. %-1=B
= A-6AB+9B”
= A-2-A-3B+(38)
-(A-3B)° X
= [C5043)~3(%-D)

- (S3-3%43) = (Xt é)
= 4(%3)

PR :

(7) a*-b*>+3a-3b
= (@-5)+ 303D
= (4b)0-b)t3(-b)

= (A-p)Atbt3)

(8) x*-y?+2x+1
= (K 2%+) - Y

= (X+1) -

i

= (% HY)X4-Y)
= (XD O=Y+1)

(9) 9>+ 6x+1—2 (3x+1)
= (X4 =2 (3X+D)

= (3X+DLEX+)-2)
= (3+DGX-D)
<EFREAZRFITMHE
(10) #IAFHRTFleo%
N M JN | Jionv
19 | 361 | 4358 | 13.784
31 961 5.567 17.606
43 1849 6.557 20.736
. /4300
=loA4>
=lox ¢.557
= 65,57
9. 1.9 =f_5_»’j£4,
0
“ AT /.37 84
o0 - .57
_ Ao
e
3. 279 3]279
=3\3] 393
= 3X 5,547 =)
= [£.]o|

PR

3
(1) KF# &KX FERK

1. 42°x3'x7 2 >

28

=Zax5x,\jz><5><’] _ A5

2N
R4z T
2N xNT
e
(1) ETFHEX ~ A%‘

| 5@—2J§+\/§—4\/§
= (SN Z A3 -4Z)2d T

= N3-2E
2. (\6-24/3)?
= (WD) -2x B x 2> + (A
= (=448 + 12
= [§-RAZ
3. «/E+ 2EX l
R
/\//5 .l_ _L /_ NE
_— _?'_.;g
SN AL
4 \/_ :-3‘{6—"5@
325
__ A3GAEtS)
GyzT-5)(3{=+&)
- _3dC+I> _ 3z4d3
[8-25 =]
ﬂ@i?ﬂ%ﬁ?*ﬁéx%ﬁ

<3

it

3(},\)54’1
= N 25+44
Nf—‘

K= 1o -(4779

—_—

2. AB AD 12 ~ BC 24
BD-.//S’/Z* %L\
/7

- Oi
CH=24-9

’X‘m
A YL
B



(14) B 40— EE A= A0 Rk A
V7 29 R(OAEE Qs Ea®

< 3 v(A) 3x-1 X(B) x-2
O Jaram) (@ x4 o j,
} /\I—T B \/(C) Zx+5=z‘}-(x+zID) 2-6x = ~(X42
o = A2 | (B —6x* —10x+4 == ()
= N9 INZ xa[= ==2(3X+5X~2)
= . 9434 5:_ACDE
7 14
‘d% (19) #mx-482x - x+atyBAX - 8]
(15) & f 448 L A(3,-5) ~ B(-2-7) L. a=7
_t 2. B2 —x+atiAX R
C(9,-5) » £AC ~ BC#i& /. X+ A~(=28)=0
AC= N(3-9)% (-5)-€5] %4 ) 2%Z A+ G A18=0
N ~) XX-§% =28 P
N 3640 X
. r\}_BZ: é g __) 7’)(—-‘25: -2 N
0 X+Q

B?:mﬁ-z~?)?£<~q)-(—931
= LISk = = 5
NEDHC2 =A125 =545

Rl 4
(16)F —#FE3 ARFA—EHML

1.2 26 TR 1.8 AR RIS JE
Beds % L R?

NESYa
= l 7_3.24. I-S
=NZL
2.4(m) £

2. AL BRBERBTAKEKT R
B M TAMEME 2.4 AR AR ERIE
M N 42 S 3L b e R7

24

—

W 4.6
W =O.é(I'ﬂ) %

:,\} 3 24 \
3/ |aa
A ek— BT BOES 1.6 22 2

HAEGEI 4N ;j}ilkt.ﬁ{f.}f;

>

& Xem N
I
XedGas-aor | TN
%ﬂl.éé—z.gé
7= (3+1.6)%2
= 4.6

(18) & 3x? +5x-2=(3x-1)(x+2)
T 40 F 5] RLE L 2x” +5x D 84 B X, ?

20) & szwﬁz’ﬁ sz (4R
1. —3a” —35ab

= AE30-5b)
& -0.Gatsh)

2. (2x-5)+(2x-5)*
= (%-5)[ [+ (X-5))
=(QX-5)(RX-4)
=2(¥-5)X-2)

~({-3%)
3. 5x(1-3x)-2(3x-1)

= 5X (F3%X)+ 2(1-3%)
= ([-3%)(6%R2)

4, x*—xz-xy+yz

= (X=X )+ E)
= K(X-2)-Y(%Z)
= (X-2)(%-Y)

5. Sby+2ax —10ay — bx

=(5by-bX)+Rax-{o6Y)
= b(5Y-X) 1 AK-5Y)
= b(4y-%)-2a.(5Y-X)

6. (b*y—3y)—(by’ —3b)

= 5y-3y-by+3b

= (bY-bY)+-3943b) ﬁ)ﬂ:
=by(b-y)t3(=y+b) =b-Y
=(b-y)(by+3)

7. (a—b)* +4a(b-a)
=(0-b)-40(0-b)

- (a-b)[[a-b)-44)

= (0-b) (0-b-4)

- (a-b)(-30-b)

DA A FELAXBXATHAT 7&K

1. 49-324y°

= T-(8y)
= (14180)(1-18Y)

2. (2x—5)21— 64

= QX-5)-§°

2 [(A-8)+8T[X-6)F]
= (2X43)(X-13)

3. 169a* —52ab+4b* N
= (B0Y-2-13a-2b+Rb)

= (Ba-2b)

4, —7xX° +42x—63

“1(X=6%X+9)
~1(%-3)"

a—
pr—

=

5. (4y-3)° -Q@y+1)’

=[Uy-3 1+ DILE-3)- Gy)
= (4y-343Y4+1)(4Y-3-3Y-1)
=(-2)(¥-4)
6. (x+D?-18(x+D+81

< (1) =2 o)-9 49

- (%=1 )

= (X-§)

= (5¥-%)(b-20)

= ?.)\(cm)‘;6



